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o] FAtzEg el Wol 1 8 x 8 = 64(cm?),

EQ AAARP Y 3 B9 o] 1 8+ (8x0.3) = 8+24 =
10.4(cm),

5ol A o] Yol © 10.4 x 10.4 = 108.16( cm?),

Yol &} @ 108.16 — 64 = 44.16( cm?)
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300 x 0.4 = 120("9)
: 300 x 0.55 = 165('F)
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1km = 1000 m, 4.95km = 4950 m

1 AZk= 3600 =
1% 59 Gozk A=) & 4950 + 3600 = 1.375( m)
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(A2 Hol)=12x19 = 228 (m?)

(A2e] do)=19-3=16 (m )o|BZ

(7} 9] Zdo])= 228 + 16 = 14.25 (m ) ©]ojoF T},

webA], Sojob & 7F2 o] Aol 14.25-12 = 2.25 (m ) YYTh
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6.375 x 100 = 637.5( m)




1}

il
ez}
A

10.

)

M >
of>

Ut 19 3¢ 82 o= durdy7p?
= 9]

>
> Hel 54009

T gol= 60000 €S AFstAdY, 1 5t 9% o]zt

(Hlash= )=(71=%=)x (H&)
60000 x 9( %) = 60000 x 0.09 = 5400()
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